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CH -- 2 reproduction in flowering plants
and plant growth
1.Multiple choice question ( tick the
correct option )
1. One of the following is not a part of
seedling
a .radical
b. apical bud
c. plumule
d. cotyledon
Ans: b : apical bud
2. Transplantation is common for
a. paddy
b. Tomato
c. Chillies



d. allthe above
Ans : d. All the above

3. In crafting the lower part is known
as
a. scion
b. Stock
c. Taproot
d. none of these
Ans: b : stock

4. bryophyllum is an example of
a. leaf giving rise to a new plant
b. stem giving rise to a new plant
c. root giving rise to new plant
d. seed giving rise to new plant
Ans: a : leaf giving rise to a new
plant



2. Fill in the blanks :

. Jasmine is the example for layering.

. In Bryophyllum , new plants arise
from the margin of the leaves .

. Seedling is also known as baby
plant .

. cotton and modar are examples of
wind dispersal .

Fruits with fibres or sponge coat
are usually dispersed by bird and
humanbeing .

Plumule give rise to shoot whereas
radicle gives rise to root .

e TO BE CONTINUE........ccctvviuirnirnirnnnnnnnen.
e INH.W.SAME WORK LEARN AND WRITE .



